 EQ x\s\up8(2)+y+1=4+\b(2y+x) 
 EQ x\s\up8(2)+y+1=4+2y+x 
Преобразуем уравнение.

 EQ x\s\up8(2)+y+1=4+2y+x 
Изменяем порядок действий.

 EQ x\s\up8(2)+y+1=x+2y+4 
 EQ x\s\up8(2)+y+1=x+2y+4 
Перенесем все в левую часть.

 EQ x\s\up8(2)+y+1-x-2y-4=0 
 EQ x\s\up8(2)+y-3-x-2y=0 
Приводим подобные члены.

 EQ x\s\up8(2)+\b(-1)y-3-x=0 
 EQ x\s\up8(2)-1y-3-x=0 
 EQ x\s\up8(2)-y-3-x=0 
Из уравнения  EQ 1  выразим переменную  EQ y .

 EQ y=x\s\up8(2)-3-x 
Преобразуем уравнение.

 EQ y=x\s\up8(2)-3-x 
Изменяем порядок действий.

 EQ y=x\s\up8(2)-x-3 
Окончательный ответ: .

	 EQ x 
	 EQ y 

	 - любое
	 EQ x\s\up8(2)-x-3 


